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Ve (£0) aia¥) Aud S A a3e -

Aadia (YA) laie¥) dul S Cladia dac -

(b e g ¢ laiel) Al S Ciladia aae (e ALY a8 i e B -

(Slebu EDE) LAY () -

Asa (V) DLasSU 4K ds all -

P Agling cilaglal) 08 8 . llall (5 338

ALY el Lghgan 8y Al dadie i latiel) S dadie 8 ol gas 12 Cilagledl) T 30
Al b eadl J8 o 48 Sy Aliag ) s 18

3 JS (o Lt Baal g il L) qugthiall g ¢ zliadd day e ALid) ¢

AL e alasil ane g ocla g ) 8 Galia )l Al 5 ¢ Aadld (3 ) Giladl AR aaa
dalial daladl Al s ladl daiadiall dalall & conf (A dWa) Al WD elils) die
e S elila) ¢ 5 ¢ el 3 L8Y) ga 83 gusall ladia & laY) JLSi ) (Say s A
L e oy b g Ala)

s JLia

. &8 (B) 4 (A) oo el ALEAY) 408 ALY (e olils) e
rda g O e (e JLEAY) Alidd Ge dlifla) Al

) e JSI SIS DL Al BlaY) e JIal Sl culd s jiall Jils
Mia (C) Aagmaall LlaY) 1 e

: dagaall 4y

®e®E

Anma LY sl dania Als) Cualy Cladll cudd (et Ala) cual 1) L dlls B
Lt LY et Tad 8l Qe Cadd G ¢ dapaa s Gl 1Y Ledlls -
: 4k gala
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Base your answers on what you studied in | ¢ Le-¥135500 -8 Ciwys Lo g 9o (-2
Biology: ALY AL e

1 - Write the scientific term of the following: | :ob e le g1 olalt pllaaalf ST -

They offer information which are collected | o5 ot clasteatt foss 31 LSS
about microbes and foreign particles to the | g, alus 3150l Seati e Lgaes
specialized immune cells found in lymph | zawmsuet aetatr Losy Lgoust
nodes? A glaad) suall L3

2 - Choose only one question (A) or (B) and | (&) of (1) (el guatt i pin) - ¥
then give reason for: y
‘He @2
A) Placenta may cause great harms to the o ot A (50 sl o
embryo.
B) The suitable female age for pregnancy
ranges between 18 and 35 years.

Yo 9 VA (o heonll Cewlial! G0N oo —0

S
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3 - What are the results if leaves of calyx are | :le a0 yilat) LGN & Lo =Y
hardly .dlfferentlated .from those of the Blosh 30 LulSH Blygi el puc
corolla in some flowering plants?

ST Hlayl an o8 7 53

4 - Choose only the right answer of the following: | b Les dadd Aovomalt dala W1 i) -

From the inflammation-generating substances | --..--- OLgI I 38 gal ! slgaldl (pe
the..... . \Y....a\.
@ Perforine. 398 g et @
@ Cytokines. LS gt | @
@ Interleukins. LS gt 0N @
@ Histamines. o lig @

5 - What would happen when absence of | icgens ol wic usyile-o
phosphate group from skeletal muscular | 3 s 2tae Gl (o law gats
tissues?
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6 - What would happen when: a disturbance in | s 2 M @igas ol misg -1
the neurohypophysis hormones of pituitary Aol | B pe (osuSbndd
gland occurs? )
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7 - Choose only one question (A) or (B)
and then compare between terms or
definitions:

A) Lysis & Precipitation in immune system.

(concerning: the way of work)

B) B-cells & T-cells (concerning: the place

of production and maturation)

(@) 9 (1) o aud ) s o5l -V

oo Liad 1 Hlgant (B Cocu il g it -]
(Legion JS (o iy 3l o (s
asti bty (B) astaiussar o

zd)\ﬁpﬁ

(it ty Lt e (10 (T)
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8 - The following figure represents one of the
important vital processes in the cell.

1*) What is the name of this process? and its
importance?

2") What is the function of part (A)? what
is the results of the disturbance in
nitrogenous bases?

(A)

St | St (o | St - A

A3 Al A gt | Oililaal
Slgiran] Loy Shdeal 0l mul Lo &,i
QA £ oaM Wi g Lo <LalY
delgall B s Gigiao doniih Lay
Fa g !
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9 - What is the role of head and neck of | (e JS 4 pgas il Houtl ga la -9
man’s sperm? W gl Oilal g | B Giallg (yul T
SOLu ¥ LS

10 - Choose only one question (A) or (B) | (o) 5i (1) udtiudt dsi it -\
and then write its scientific term: i | LS @

1dde

-

A) A particular sequence of nucleotides in

DNA 1is transcribed to a complementary S, A e
ol Old gdS gu 2o -

sequence in triplet on mRNA. (bt @ o1y MRNA e

B) The enzyme is produced by viruses with DNA o ya i (ye
RNA genome. Ol gyl (B 43528 om g3 @230 — L
RNA ot gioms 553 01
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11 - Choose only one question (A) or (B) | (&) oi (1) ol 1audt dsi 5500 -
d then mention the importance: . .

an i imp el g 3

A) Tendrils in plant. L R

B) Cholinesterase enzyme. i) (i 953 @333 - o

12 - Choose only one question (A) or (B) | :@d (<) gf (1) o faaudt dsi J250 -\ Y
and then give reason for:

e
A) The zygospore divides by meiosis. B (G)gmin plwdl g
B) The menstruation takes place if the D gy ¥ ) g gy

ovum is not fertilized in human female. | sw@>3 @ 3l cwlatis gs Gusi-o
OLLaN 0T 5B dday gt
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13 - What is the technique that used to
obtain the following:

1*") Important economic plants from some
living cells.

2"Y) Frog without fertilization.

14 - Choose only the right answer of the
following:

The lymphoid organ which have the highest
percentage of lymphocytes is .........
Tonsils.
Thymus gland.
The lymph nodes.

®O06

Payer’s patches.

15 - Mention the uses of hybridized DNA.

Aaiafddy,tall o S3)-NY
100 JS le Jguamlt
po usluaiBl hegd ginals ¥
s LS pan
wlas | Oy palads Lol

oLt Lo dah Aviouiall Aalan ¥ il -1 €
L33 Amgliacltl sloac ¥ s

gt DNA Gle st 83110

YA/ YAV J o1 59t - das i yolt dAdialt Al



YoAA/ YAV o 50 aladt - S 9% 5 9uld! - (Ao ek W1 ARLLY) o Lo - Aaladt Ay g3 At yld) ALY Balgd loeial
[ fi 9 9 =3 =l =) skt =9 flaal o

16 - The following table illustrates the

codons of different amino acids, look

at it then answer:

‘_,.bLo.:-;Y‘Qlej.\}.S_ew -\

RPN (- P WL {

Glycine | Arginine | Threonine | Lucien | Prolines | Alanine | Tyrosine | Lucien [ Alanine
ol o)l | otens | orwed | oo | 0¥l | oowess | et | ol
GGC AGG ACC UuG CCC GCG UAC CUG GCA

1) Write the mRNA strand that produced
from the following part of DNA:

ooooo

: A DNA oy i ety

5L MRNA day 5 081 ¥y

2"9) Write the arrangement of amino acids | o® #ees¥! polea¥l cod)s casi Ll
in the polypeptide chain which produce | & & ! sl wpde Aulu
B 3 5 8 I et
from the previous nucleic acid. .

17 - Illustrate by drawing only with complete |oLLd 1 ZUS po dasdd mu Il g -V
labels the structure of the vertebrae in O3l WY oo a8 3D S 3
human.
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18 - The figure below show the humeral aclial) A masgy L St 1A
immunity. adatsy

1*") What is the importance of organ no. (2)? oY1y ol Ul 5 4 3

2") What is the importance of 3(Y) 08 raall dsoni Lo+ ¥
major histocompatibility complex? | o) 3315331 (g s dnesl Le Lol

3') What would happen if the structure no. R

(3) absent?
(2) )
o /ﬁ -
":;':{'
i
= &
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19 - Choose only one question (A) or (B) and | @3 (<) of (1) i3t di 21 214

then write its scientific term: dde 101 alal! llaaal! LS

A) Seeded plants whose seeds develop i ls Lo yais L Ayt il |
with a pericarp. ; W

B) A phase in the menstrual cycle is
characterized by an increasing in
estrogen secretion which stimulates
the growth of the endometrium

(S D A
a3 ol 13393 | (Sl —iy
O g pw ¥ (90 50 515218500 50

PO (]I PR PR YR (1

20 - What are the results of: 1ol A Slad gL Lo - Y
Injecting a group of mice by virulent (S) LS oy (pa e gomme (3
ba.cterlal typf: (S) that pre.V10us1y. t.reated & aupls Lgtlilee Gaw L3l Fisadl
with deoxyribonuclease in addition to S (T ‘u
living bacterial type (R). S N s 8
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21 - Choose only the right answer of the
following:

The ovule formed by ...................
division in flowering plants.

meiosis only

mitosis only

meiosis then mitosis

®0eE

mitosis then meiosis

dadd Aovonall dala N o) =Y I
1l Lae
o B PR { - /) P~ PP { P S
........... pludy ¥ dlawlgs &y 331
.dadd (g) gieal! @
sl ssatl (D)

s ()

22 - What would happen when:
The developing cell produced from
the fertilization of one single sperm is
separated into two masses of cells?

(13 Cakon fale - Y ¥ I
a9 (S900 Ol g dln 93 S
0o o] Eadis Leandal < Lisly
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23 - Compare between the following:

Endospermic seeds & non-endospermic

seeds.

1 Oy &)‘3 =YY
syt g X1 5ol

A ot 93 LA 5900l

Endospermic seeds

Aty g1 Hglud

Non-endospermic seeds

A o getd| AT 5ol

24 - What would happen when:
The second line of defense failed in

getting rid of the foreign body?

£13) Cdoms 130e =Y £
o2 ol plan I da s Ga sl
S%JH‘W1QAUAE>JS|

YA/ YAV J oW1 5addl - das i solt Adialt Ase i




YA/ YAV ol 50 aladl - J o1 59l - (A lod M1 ARULY) o Lo N1 - Aalad) A 3L Al 501 ALY Balgds G Loxiie!
o P 9% )9 o ) sl 293 plet S

25 - Choose only one question (A) or (B) and | (©) 9i (1) (01 audt di St - Yo
then illustrate by drawing: OB JolS @y i g @

A) Stages of pollen grain germination. LAl 2 L oy

ad o h i S AL -0
SUEN (V-9

B) Asexual reproduction in bread mold.
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26 - The following graph illustrates the
contraction of the same muscle “(A) curve
represents the normal contraction”:

1) What is the name of each state that is
represents by (B) and (C).

2"9) Explain the curve (C) does not return
to the start state.

muscle contraction strength
ol (olarYsus

JSad 8 () (@) (1) Sldonial! - Y
oudid Gbine Lo Jhad 1
(1) mionial) Jiad Ei Aliaall
por el gliaal! jSLaY
ol Lee s
Lgtias 0| Aot | waul 830 ¥ i
(2) (@) Oeimieti oo US
Cowp Lo & 9 (B puid :LolS
(7) etV Bage pae
Al d) Aladl (5 et

> time

H

RS
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27 - Part of DNA contains the following gsizm3 DNA sg55 (oo we -ty

sequence: A i e
/ 7z
30...TAC - GCC- GGG - ATT.... 5

Answer the following: e (B okl 3] Conkney 13805
1*) What would happen if the Thymine | 31 DNA ss5» 2 Gl
base changed to Adenine? oy ¥

27d) [s the protein synthesized or not? GulsnS el 1h o Le Lt doa sLals

Explain your answer. TN P ot

28 - Choose only one question (A) or (B) | (<) ol (1) ottt 3t dn§ p2n YA
and then define scientific term: 18 e @3
(A) Tendons. ¥ (1)
(B) Sarcolemma. e 68 5Lt ()
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29 - Choose only the right answer of the | : b L dadd doouall Ll ¥ S5 -Y4
following sentence: 3SSaal | Sl ¥ £l das 3
The fragments of antigen-bind inside the | . 5, 5, cria et Lot gas
macrophages to a protein called......... .

@ Immunoglobulin. LR O gt t @
@ Major histocompatibility complex. ot | 521978 @
@ Interferon. ol g e 3 @
@ Complements. (o MaST1) lalzatt @
30 - Give reason for: il Lo jud Y

The appearance of malaria fever symptoms in human. | Ly ole LyStall gex (ol rei et

31 - What would happen if: role A yilad ZILES Le - ¥
Chromosomal triploid in human was found. | 2 Lacall 535 Cacliad ¢igan
SOLLI W 52 Aasall Aay gl |
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32 - Write the scientific term:
Proteins which suppress (inhibit) the immune
response or stop, so the B-cells will stop
producing antibodies.

33 - Mention one example for each of the
following:

1*") The differentiation of an egg (N) to an
individual directly.

27) The differentiation of somatic cell
(2N) to an individual directly.

JIA elall e llaiaelt xSl =¥Y
AGY 3Ll e

duelioll Blafia¥ dadiy (pSg
(B) Lissa adgnis Letlaay 4
Balaat! plus 1 2151 (5o Zea) S|

Loe JST fiomfg Yliie oS30 -FF

o] ¥
3,2 I (0) Mgt Jgoui + Yy
e

(OY) Zrowuand | 25T Jgand LW
lee 3,8 I
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34 - Choose only one question (A) or (B) and
then compare between the following
terms or definitions:

A) Neutralization & Agglutination.

B) Getting rid of toxins in plants & Getting
rid of toxins in human.

(<) 9l (1) o guadt |yt - Y8
1O (B
L9 Jalaid -
Oladl (2 pgeud! (o palsildi-o
OLd N B p gaud | (o palsi
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35 - The figure below show the translation | .RNA zuwd (oo H G it -Yo

of mRNA Answer the following: . .

1P Y e B

1%") Write the bases sequence on mRNA. .

Lo delgdt aalis (i) ¥yl
2") What would happen if the RNA

arrangement of bases on the DNA

e, uad 3] Gasn Ble Lol
template changed?

DNA s, e aclgall
3%) What is the name of enzyme which

Lt
used to translate mRNA?

(o2 pesiiad ) @ ¥ el Lo LIS

s RNA gLy
Part of DNA single strand
| | | | | |
LAl [T][C][C][T][C]
N I A A
- IS - — mRNA

Y Y
A B
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36 - Illustrate the effect of LH and FSH LH FSH _ige,s ol moy-t
hormones on human male and female. OLus¥T L3y 485 ke

LH FSH

Male

LS

Female

SaY
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37 - Choose only one question (A) or (B) and
then write its scientific term:

A) A type of connective tissues that forms
some body parts and does not contain
blood vessels.

B) Neurochemical transmitter’s presence

in the synapse during muscle response
to nervous stimulation.

38 - Choose only one question (A) or (B) and
then mention the site and the function:

A) Stigma
B) Interstitial cells in Hydra.

@ (22) 91 (1) oot 3l s 5250 ¥V
sdde 1AM elall zllaael| COS)
£l paay ST Balis A (1)
903 e gl e S Vg paunt!
Ao gl B gl e J3U ()
s 5518 e Adinall Accnall

@3 () 9 (1) o aud ) s f pin ) - FA
s Aadd gt g OLSal) 43
et (1)
et 2 And LY (o)

Function

Aadselt)
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39 - Choose only one question (A) or (B) | (o) of (1) ¢t audt i sl -¥4
and then give an account on: &3 aguadall Lo ,S31 @
A) Tyloses. Otk (1)
B) The deposition of the gum. & 3euaad | i 33 (1)

40 - Choose only the right answer for the | dads dsvouall Wl N1 50 - ¢
following sentences: t ol Leo
During the stages of the spermatogenesis | ., s<s ATCTRPIEIVOR ) Orer
the spermatids formed in............. phase. | _.° Ao o B el Sl guod

@ multiplication e Lo @
@ maturation geaid! @
@ growth . gt @
(d  metamorphosis tangsan ()

41 - Give reason for: 1ol Let Jle - £
Complements play an important role in the | ,eds 3 Legs 1593 O MaSall crali
destruction of microbes that found in the blood. Saatls 5392 sl Silig ,Sal!
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42 - What would happen if: sie Gitony 13Le - € Y
Absence of helicase enzymes from the Al e g0 Olan jo sLatial
living cells? St

43 - The figure below show a T. S. in the Lo lad i g TN JSL) - £
ovary of a human female, look at it
then answer the following:

1*) How many days last for the maturation | b Lee el @ JSEI (uys!
of no. (2)? Loz Loy T ALY sue oS ¥y

2") What are the names of hormones | $sei oS3 (Y) p8) oS !
secreted from no. (2) and no. (3)? 3043 A1 Ol g pgdf el Le L1

~OLUBN 1 paie o8 Lud yo

3*) How many chromosomal sets in the (%) (o0
cell no. (1)? Laal Ole gomal i sue oS :EIL
S(1) B Bl o3
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44 - Explain the effect of: Buat) ad p LT g -t
The two lobes of pituitary gland in suckling | et 31 ddes e Al
(breast feeding) process in man. iyl o

-Obua?

45 - The following is the sequence explains | as g I LI pa it £ 0

a part of a DNA s.trand; | i b A atad o
Answer the following questions: DNA

’3....TAC - TTA - AGC - ATT....’5

1*Y) Write the sequence of nucleotides on | ¢ laisds s polis cis ¥4
mRNA transcribed from this strand. | (w25 suwiad RNA s> 2aks
DNA ¢ (o daladti sl

2") How many amino acids in a ! ) )
2 A Y (oles W aue sus Lol

polypeptide chain translated from
this strand? (Mention the 1 amino
acid in this chain).

e it e Bl
e RNA aas s st
B Ui sl e Jgl 58D

aladldl ol

2
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